Lesson 6 – Division

Bronze-I can divide by 1 digit using bus stop

A. [image: What is Bus Stop Method? - Twinkl Teaching Wiki]312 ÷ 8 = 
B. 306  ÷  9 = 
C. [bookmark: _GoBack]684 ÷ 2 = 
D. 382 / 8 = 
E. 305 / 7 = 
F. 451 / 12 =

Silver- I can divide by 1 digit using long division
A. 1288 ÷ 4= 
B. 2568 ÷ 6= 
C. 8118 ÷ 9= 
D. 1893 ÷ 3= 

Gold 1- I can divide by 2 digits using long division with exchanging
A. 7212 ÷ 12 = 
B. [image: ]4465 ÷ 19 = 
C. 241 ÷ 17 = 
D. 1946 ÷ 31= 


PLEASE TURN OVER FOR GOLD 2



Gold 2- I can apply these skills to reason and problem solve
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For each question, write the missing digits to make the division correct.
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1) When this four-digit number is divided by 1) When this four-digit number is divided by
this two-digit number, the answer is 85 this two-digit number, the answer is 85.
OOOO-0 - OOOO-0 -
What are the greatest possible numbers What are the greatest possible numbers
that could be used? that could be used?

What are the smallest possible numbers What are the smallest possible numbers
that could be used? that could be used?

2) Can you work out the missing numbers 2) Can you work out the missing numbers
in this calculation using the clues? in this calculation using the clues?
®+@ =72 ®+@ =72
A is between 1000 and 1500. A is between 1000 and 1500.

B is a two-digit number. B is a two-digit number.
3) Can you make your own missing number long 3) Can you make your own missing number long

division calculation for a friend to solve?

division calculation for a friend to solve?
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